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HISTORY A (PAPER=)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS

(Please read eachiof the following instructions.carefully before attempting questions)

There are EIGHT questions divided in. two Sections and. printed both in HINDI and
m ENGLISH.
Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and eut of theyremaining, THREE are to be attempted
choosing at least ONE question from cach Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
. must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
a question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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WUus—A / SECTION—A

1. et fag g #AEfE wSifRa fe sl B ggEm IR T et we-wE-Sw g § e 9§
T T TN 30 Wedl 1 widm feoeft fRay) A W sifeha T wH % foe wam-fior %
FHFER A= T T R

Identify the following places marked on the map supplied to you and write a short

note of about 30 words on each of them in your Question-cum-Answer Booklet.

Locational hints for each of the places marked on the map are given below seriatim :
2Y.x20=50

(i) TH HAUMUERIAH €
A Mesolithic site

(ii) Th AU e
A Neolithic site

(if) T HETHTHIOI-ATHISIUERIE I e
A Megalithic-Chalcolithic site

(iv) T TIUTIOTHTC T Tl
A Neolithic site

(v) TR AIUTIIUTRICIH el
A. Neolithic site

(vi) Teh HETTHIUERIC T Eofed
A Megalithic site

(vii) %Wﬁ%mmmw

A site known for Buddhist remains

(viti) Teh TEHIRICIH T

A Harappan site

(ix) TF TSR ¥
A Harappan site
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(x) TH GEHERIAN T
A Harappan site

(i) T TAUTYTIRRTEHH T
A Neolithic site

(xii) TH TESETRIEH T

A Harappan site

(i) TH TS
A capital city

(xiv) TF SR 61 I
(xv) .@qﬁ?ﬁ SIS TATH T
(evi) T Ren 3

(i) T LT

A terra-cotta :

| An lnsﬁt’re for 1AS

(xvili) T SETE

A seaport

(xix) Tk TSIHTH
A capital city

frx) TH TSEER
A capital city
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INDIA
WITH AFGHANISTAN, BANGLADESH, BHUTAN, NEPAL,
MYANMAR (BURMA), PAKISTAN AND SRI LANKA
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2. (a)

(b)

(b)

()

——
£
~

(c)

WA | HEITIOrRTe <l WTefireh faRtemed fi e sega e R 39 SR a9

Delineate and account for the regional characteristics of the Neolithic period
in India.

THETRe % 1 wR 2 6 Al g gk afkEt daviE oS 9o Y-k e i
HafRmd 2|

Explain why the majority of the known Harappan settlements are located in
the semi-arid areas with saline groundwater.

7d dfeeh §AS % WHAEE] E@E H, W AfewHa F N fh ger ¥ afedy g 97

In what way was the egalitarian character of the early Vedic society changed
during the later Vedic poriod?

RIS "I wTdres] So Yo o oftudi wredt $o Yo weh. 211 Tafy, T T UNg e F A=
THEl 1 wdEn i

Examine the relationship: among economic growth; urbanization and State
formation from/e. 7th century BCE to 3rd century BCE.

PV T WTETEA] % AN T TSTHifh I 5l Gohleie Hiise qiea fre R fafafem
AT &7

How does the numismafidl evidénta of the period reflect the political and
economic outlook of the Kushanas and the Satavahanas?

“SPIOERTE ¥ o HEdIE G el & & H g ufEd, Sed Yaasiie g & gifer €17
ot hifs |

“The changes in' the field of art from the Kushana period to early medieval
period are mere reflection of changing outlook.” Comment.

WA R W TR YOIl 6 9T TR SaER 1 WHTCEHICHs Jodieh i |

Critically evaluate the theory and practice of land revenue system in
ancient India. :

“ﬁuﬁﬁﬁmﬁﬁﬂmﬁmaﬁammn%qﬁgwa:ggzg@ggﬁgwﬂ ufafar=
= g1 faeem difs)

“The copious references to the preservation of Varnashrama system by the
kings eulogized in inscriptions are mere reflection of the Smriti tradition.”
Discuss.

e el 3 w9 i 2 AR 7RG O T R S TR SR e
T YST? AT =TS qUeor Hif |

How did the temples of South India, as financial institutions, have deep impact
on thec social institutions of carly medicval period? Critically examine.
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(b)

(c)

()

(e)

(b)

(c)

7. (a)

(b)

@us—B / SECTION—B
‘W—q-ﬁ’ﬁﬁmwnwm#m%mﬁ@mﬁﬁm
Evaluate the contents of the Tabagat-i-Nasiri as a source of medieval history.

<l TTEH UURIh 99 % IO el & Aed w1 favegn ifd

Analyze the significance of the Uttaramerur inscriptions of the Chola King
Parantaka I.

STE-3 - & MR 6 SIS o Il bl Gedish hiferg |
Evaluate Jonaraja’s account of the reign of Zain-ul-Abidin.

ST g 3T Y W™ TS 6 geTa Bl "egenfear W fewef fifs)

Comment on the veracity.of Alberuni’s account.of the Indian society.

STRITR % WA % SRF_ JT FeeenRl & foehm <l SuReEr Seqad =i |

Delineate the development of the Mughal painting during the reign of Jahangir.

Td HEAhICliF S o SR &Y % HoeH! hl Wy FH| .
Explain the ingredients 6f'the frans§itéry e tiire 6f the early medieval India.

e weata % HAEIHW o A earTr o (- ThTSue 1 qae o oY FrRE i)

What measures were initiated by the Sultans for the consolidation of the
Delhi Sultanate? Discuss.

e foew Aifdehl = Suaaretl At ik g THsT 5 S J9E] i TEEe i

Identify the broad contours of the Mughal foreign pelicy and their impacts on
the Mughal empire.

‘Yo % ed TG T SMRRHIE i) SIS €Al at e fednl | AATST sud EAd 8¢

“The Advaita doctrine of Shankara cut at the very root of Bhaktivada.” Do
you agree?

T A% TER § Headd EH 5 =6 6T T e sum wm seeee % faw ot
e A7 I WA FA g T

Do you think that the economic measures introduced by the Sultanate rulers
were beneficial to the common people as well? Illustrate with examples.

TRISETR 9801 3R Heqe Tl o &1 % &3 § IFEH 6l Gedishd Hifvg |

Assess the contribution of Firoz Shah Bahamani and Mahmud Gawan in the
field of education.
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8. (a) T UH fa=R A 17 W=l & HM-qH G T % Hoawd g HiHed 1 foEe el
o7 TR Fifsg)

Do you think that the agrarian crisis of the 17th century led to the
disintegration of the Mughal empire? Discuss. 20

(b) T YT WS % HESR B TR AT & AREAT % 36 8 SH % BelEsy SIS $) IRd 6
[std sy g§ oN? Raeil RSty

Was it the weakening of the Mughal empire or the rise of regional powers that
led to the British conquest of India? Discuss. 15

(c) o I8 §F & F USietar il wggaeil nfafafiel ofR sk @ e f a5 ¥ 7S
Ty 1 fme gen w? feowf Hifsw

Is it true that the court intrigues.and weak revenue system led to the collapse
of the Maratha empire?:Comment. 15
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Question Paper Specific Instructions

Please read each of the following instruciions carefully before aitempting questions :

There are EIGHT questions divided in TWQO SECTIONS and printed both in HINDI and
ENGLISH.

Candidate has to attempt FIVE questiots i all.

Questions no. 1 and 5 are compulsory and out of the remaining, any THREE are to be attempte
choosing at least ONE from each section.

The number of marks carried by a question [ part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must i
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. I
marks will be given for answers written in a medium other than the authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a questic
shall be counted even if attempted partly. Any page or portion of the page left blank in i
Question-cum-Answer Booklet must be clearly struck off.
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SECTION A

1. FrafTRe T =1 AT 150 veat # 3w i

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

2. (a)

(b)

(e

-ESC-D-HTY

TR 4 & STy ST o <hi Shitet Waxarshian o feoquft Shifsm |

Comment on the French ambition of building a territorial empire in
India.

AT % g % YT, UG A fRE SRR Wed I A myfes 30 § gaw e 2
After the Battle of Plassey, how did India transit from the medieval to
the modern age ?

T MY 38 0q ¥ Heud o foh WA 1931 3 208ff Siarfseai # wigumn wnfees
% T A | GER oA HiEepioeh Yrec= 1 WOl Sy R 2

Do you agree with the view that the growth of vernacular literature in
the 19" and thé 202 centuries paved the way for social reform and
cultural revival in India ?

“1857 1 TeX, THUTlEAT o TET B Fhal (@ fYen g f6e 8 <& %0 91 |”?
feoqoft Hifv |

“The Mutiny of 1857 was much more than a Mutiny of-Sepoys and much
less than a National Rebellion.” Comment.

SITcHFfes A AU Tt Taesh’ 6 =reg g, fom sme & wesft
eI i If| G |

Explain “Constructive Swadeshi”  characterised by . atmashakti
(self-reliance), which propelled the Swadeshi Movement in Bengal.

TG hEl hal o Tal gl k) T A, Telse SR AN THST % GEAE
&, o IR B 2T T NS 3 7

How far is it correct to say that if Clive was the founder of the British
Empire in India, Warren Hastings was its administrative organiser ?
“grifar <t Sfid Gumt i S| @ o o e 9 oy ety e 98 12 w6 s
1 s fafeEq i & ded o ylg il |

“Peace hath her victories no less renowned than war.” Examine this
statement with reference to Lord William Bentinck.

“ORd % ToTC &9 Jurell TSHifas e 6t go § el Aftes sifvar off |7
T 39 39 9o O eHd & ?

“India’s_need for a federal system was more an-imperative-than a
political choice.” Do you agree ?

2
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Q3. (a)
(b)
(c)
Q4. (a)
(b)

(c)

194 SraTed] % SN WRA H Th Hew !l TeAT Ul st ‘fa-sfenfientor waers |
36 AT % 7Y ITRER SRV i STAEHTcHS TE0 SRd Shifeg, |

Critically examine the causes responsible for the phenomenon called
‘de-industrialisation’ in India during the nineteenth century.

g e El a% el ¢ fop 10ef wiaredt % anfeawdt fogig swmida U W
& e € 2

How far is it correct to say that the 19th

century tribal uprisings are a
part of subaltern nationalism ?

. .o, SiuESHt 3 URd Sl ST GHET &1 Yoo g 6 YRR o
P 1 TTeT feme 2

How did Dr. B.R. Ambedkar try to seek a political solution to the
problem of easte in India ?

“CATet 3 IE oh GRIShI (1730~ k85 3) ok vl ShYUHT HITEAT o Il W HHG
SR AR S <1 STTREshay 93 T8 o) ETsieRtr i |

“The need to impose greater parliamentary control over the Company’s
affairs increased during the decades (1773 — 1853) after Plassey.”
Elucidate.

R TR STeNe iRt A Al Hevegel e 2

What significant role did women play in the Indian National Movement ?

AT G H OOl AT b R ST TS T TS e
TG I |

Critically examine the nature and scope of environmental movements in
Independent India.
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SECTION B

Q5. Tr=ferfas aedies 1 wFTHT 150 vreat & Iw AR :

Answer the following in about 150 words each :

(a)

(b)

(c)

(d)

(e)

Q6. (a)

(b)

(c)

VI-ESC-D-HTY

“BIe TIHE H Fo 3TH VA T AT ATAHICHSD g TS ... Seifh (Y
A Shaol QAT G@T o1, G A had GHH HeEeel W JAfish sl %

FATEG UTH hl WSTEA I TS o@T ... 7 30 W 3 femm Tga hifsm |

“Karl Marx applied his critical intelligence to Wealth of Nations ...
Where Smith had seen only the sunlight, Marx saw only the shadows
thrown upon the human scene by the unimpeded exercise of individual
liberty ...” Elucidate.

Hefieh JUTel! &1 & 2 909 90 U8 35 THTE Sl Hodiehd shifoy |
What is Metternich system ? Assess its impact on Europe.
“Ueg T hael RN 1 |99 7 |7 oot yeqa Hivm |
“League of Nationsis a League of Notions.” Comment.
3miehT 6 TENT Wt 5 qeT SR *ien i |

Explain the main features of the US Federal Constitution.

eyt fowa o fRiER & fob el 3 weam femm 2

What factors contributed tothe emergence of a unipolar world ?

SHTe SHifdr <1 SHTROT ShIefte QifF aT 8 g il AT, <o 3 THR
1 Tt 1 TN off | 39 S T ST TEHIcH TV ST ShifT |

Critically examine the statement that the French Revolution was not
caused by the French*philosophers but by*the conditions of national life
and by the mistakes of the government.

“I9 STY A ST T Wl TR @ Fehal | B fvarw ? f5 98 wweR, ot
Ta™ AR Aeft 3Tee, TRl w9 A A T8 w® wwdt |7 ItweH oA
& THeEmsy |

“A house divided against itself cannot stand. I believe this government
cannot endure permanently, half slave and half free.” Explain Abraham
Lincoln’s perspective.

o % wdaar @m 4 @ & fm gr fod W aeegt aftee @ aole
HIT |

Trace-the significant role played by Ho Chi Minh inVietnam’s struggle
for freedom.

10x5=50
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Q7. (a)
(b)
(c)

Q8. (a)
(b)
(c)

M-ESC D HTY

AT 7 TFg YR TNIGHT Thad © HERT TS o SR qiEa bl
A H "% U hi 2

How did Lenin achieve an abrupt transition from a Monarchical
autocratic to a Socialist State ?

R AW 39 faem ¥ ugwq & T awia @it s W snuria Gfyr ot smemt w
i GfYr & <te T g0 |Eetarn o1 ?
Do you agree with the view that the Treaty of Versailles was a bad

compromise between a treaty based upon force and a treaty based on
ideas ?

et wmrseaTe it gt STt #1800 & 1907 T% & gfg F R
TEd HIT |

Trace the growth of British imperialism in South Africa from 1800 to
1907.

o fave Ig 6 918 3 I o) Sehi@ W T Sifee | 9 52 9% TR
A HHIATE o (o6g fdishar ot ?

Trace the growth.of Arab nationalism after the Kirst World War. How
far was it a reaction to Oil imperialism ?

20T wraTed) % AfcH qwehl A FGIT 96 § AT USTHI{aes qHadHl + fh8 §9 H
weif IR =i TRl St Feiler R ? _
In what way did the political changes in Soviet Union influence the

events in Eastern*“Eurepe. . 'durmg).the-"closing decades of the
20th century ?

Jue e F IR Fedt g3 IR i TREn TEga HINT |

Outline the circumstances leading to Détente.
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